ROAD |, ' ARMOR

D \\/l)/ =—=RULE THE ROAD

INSTALL INSTRUCTIONS

Application : 2007-2018 Jeep Wrangler JK

JK FRONT FENDER LINER: 507LFF0Z



INSTALL INSTRUCTIONS

| WARNING

Read the instructions completely before beginning installation. Before tightening bolts,
drilling or cutting where required, check to make sure there are no obstructions such as
brake, fuel or electrical lines which may be damaged. Also keep in mind this is an after-
market product and MAY require minor shimming and/or trimming, reaming, etc. for
proper fit. Road Armor is not responsible for any damages to vehicle.

® IMPORTANT NOTICE

e Be sure to inspect and test fit your product to ensure proper fitment before having it coated, painted, bed
lined, etc.

e Road Armor will not be responsible for the cost of coating your unit if any problems with fit or finish are not
noted and addressed beforehand.

SAFETY FIRST!

e FOLLOW ALL INSTRUCTIONS, YOUR SAFETY AND THE SAFETY OF OTHERS IS MOST IMPORTANT.
e WEAR APPROPRIATE EYE PROTECTION AND EXERCISE CAUTION WHEN DRILLING / CUTTING

REQUIRED TOOLS

Metric and SAE Socket Sets and Wrenches Wire Crimps
Cut-Off Wheel

INCLUDED HARDWARE

(8) 10-24x1/2” Bolts (6) 1/4 x 1” Self Drilling Screw
(8) 10-24 Flange Nuts (1) PSG FENDER LINER
(1) DVR FENDER LINER

2007-2018 JEEP JK FRONT FENDER LINERS www.ROADARMOR.com Page ( 2 of 4)



INSTALL INSTRUCTIONS

**ROAD ARMOR Fender Liners are recommended for JEEP Wranglers with stock fender
chop kit, ROAD ARMOR 507AFFO0B Fenders or aftermarket fender flares.**

Using a pin punch, small screw driver, straight pick tool, awl or

scribe, push in center of the six (6) plastic clips around rim of
\\Q

fender to release them.

Then use a panel clip pliers or pry tool to grab the clip from be-

hind and remove. A flat wedge pry bar or dykes will work in a

pinch if you don’t have the proper tool.

SET BOLT ASIDE

Remove all plastic retainers
with removal tool if you own
one, or carefully with a pair
of dykes or a thin pry bar.
Alternatively, just grab and ;
pull the whole inner fender

well.

**ALWAYS test fit/install fender liner prior to custom painting to ensure proper fit.**

2007-2018 JEEP JK FRONT FENDER LINERS www.ROADARMOR.com Page ( 3 of 4)



RDAD INSTALL INSTRUCTIONS

RULE 'I'HE RDAIJ

Install logo backing plate using 4 - #10 24 bolts and flange nuts

Install RA inner fender liner using four OEM bolts previously removed. (RED Arrows)

Secure the remaining edges of liner using 2 - 1/4” Self-Drilling Screws (BLUE Arrows)

T . . ¥ |

**Remove protective film after fenders are installed.**

2007-2018 JEEP JK FRONT FENDER LINERS www.ROADARMOR.com Page ( 4 of 4)



